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2000172(014)

Dip. in Engg. (First Semester)
EXAMINATION, Nov.-Dec., 2022

(Scheme NITTTR)

‘ (Branch Chem., Civil, CSE, Elect., EEE
ET& T, IT, Inst Mech., Metallurgy,

Mmmg & Mme Survey)
APPLIED MATHEMATICS—I

Time : T hree Hours] [ Maxtmum Marks 70
£ [Mzmmum Pass Marks : 25

~ Note : All,ques,tlons are compulsory, unless_ mentioned
otherwise. In'case of any doubt or.dispute the
English version question should be treated as final.

4 g aifart € mwﬁsmmﬁqﬁaa |
ﬁmﬁlﬁsﬁwﬁwzkﬂé%mﬁaﬁaﬁﬁwﬁ

ﬁaﬁﬁﬂwzﬁmzﬁaﬁnwm|
UNIT—I

0 1 To
and B =
10 {70

- where i2 = —1, then prove that (A + B)2 - A2 4+ B2,

f

" P.T.O.
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[21 .88._.\»65 ,
e
0 1 B = 0 —i
A= 10 LRI = i 0
a 2=-1 3 w@ fE wnw
A>+wv~n>w+w: ]
Or
 (orera)
If: ‘_
2 3 4 4 0 5
A=| 57 9|andB=|1 2 0
2 1 1| 0 3 1
‘then prove that Tﬁwv. n“w.}_.‘ ;S _,
fe _
2 3 4 4 0 5
A=| 5 79| |1 2 0f,
2 11 0 3 1
a9 Rig T % (AB) =B'A' |
2. Solve the equations by matrix method :- : 7
x—=2y+3z=2
2x—3z=3 i
x+y+z=0
a%@@@%&ﬂﬁ%
x—2y+8z2=2"
N.lewN«“w
x+y+z=0

W Wty

= r.tl&?ﬁ‘l&.“ll\l.

[3]
Or
(eran)
Solve »:.o ¢quation with the help of determinants :

M.Xl.w..u\.T&N”.I&

2000172(014)

X+z=0
—y+4z=2
ﬂz@ﬁ@@@%&ﬂ%&@a
: 2x=3y+4z=—4
. x+z=0
-y+4z=2
"UNIT—II
‘ - (@R-n)
3. Find the value of : S 5
__E/\A+.u /\A
- p0 - B

fim V4T P =4 p FT W TG S|
p—0 p

Or
| (wer)
F ind the value of : ,
lim Ax +1)(2x + 3)
. .x,lvoo A.x + NVAMX + bv

- (x+1)(2x+3)
v (% +2) (30 + D

ﬁﬁ%ﬁg_

3 i iy P.1.0.
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[4]

If:

.vy = coS Nnom.x

then find Wu

(ereren)
If x? = "7, then prove that :

dy log, x

dx - (1+log, avn
e xznmalfﬁ_ﬂﬁ%d@_

dy log, x

dx  (1+log, xvn.

UNIT—II

(goR—m)

»u\+wa+%|mm2_ 2).

COS X.....

2000172(014)

7

5. Find the equation on tangent and normal to the curve

.8

T oy +2x+y= mﬁmﬂm (1, 2) ﬁﬂuﬂqﬂq

e &1 TER ST AR |

o e e e e e e e

e

(5] 2000172(014)
Or
(sreram)
Find the point at which the S:mna. to the curve
¥ =-1++/4x -3 hasits slope 2/3.

g 90 PR T8 R @y =14 JAx 3R
we F1 AT () 2,/3 B

Find the maximum and minimum value of

y =x3 —18x2 + 96x. . 8
y = ~18x% + 96x ﬁa@&ﬁ?ﬁ&ﬂﬂa

e
(sreran)
Let sum of two positive integers is 20. Then find the
numbers if their product is maximum.

7 ST 3 A el @1 A 20 &1 9 G
gEt s #R IR ST PGS ADH & |
UNIT—IV
- (gFR—IV)
Equation of line is 3x- 4y +10=0. Find the
following : : : . 6
(i) - Slope
(i) x and y intercepts

ﬁﬂﬁﬁ.ﬂs 3x — @io ow_wﬂm@dﬂ.

P.T.0.
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[6) 2000172(014)
p A fed mi sitwet 3 R wfaar s @i -
"
(3rera) i e Q
Prove that the points (1, =2), (3, 6). (5, 10) and (3, 2) — - —
are vertex of a parallelogram. 50 | [0
@ﬂ .&dw&d o Eﬂ A_. lwv. Aw~ my AF on e 40 ,A 12
N 3 |
(3, 2) T% AR TgEW B A 2 30 P
8. Find out- vertex, focus, axis and directrix ow. a 20 h
parabola : 8 30
y=(x-2)(x+3) 10 8
R y=(x-2)(x+3) @ 9, T, 3 q@r
g &1 ThERY S BT | | o
Or (3reran)
A v . o i Find mode for the data given below
Find ecentricity, foci, directrix and length of latus’ ; : EREFESONS
rectum of ellipse 2x? +3y% = 6. _ Size (x) [ Frequency (/)
UG 252 +3y2 = 6 B Scowwal, AL, FgaT F - . g 3
QIR TRl e a3 oFaTg o Sieg | | 'S :
UNIT—V .
(@) = ’
9. Find median for the data given below : 8 1 L
Mid Point Frequency 12 9
50 10 “ . 13 8
40 12
; 9
30 40 14
20 30 15 6
10 : 8 | ;
P.T.O.



[8] 2000172(014) :

/s

i @0 T3 3wt & Y TG S0 PN : | [9] 2000172(014)
TR ) Y A R T siwet 3 for apim fae
8 5 &iﬂa :
@ @ 2
¥ g | Ale I ( )
11 7 | 1 39
12 9 ,_ N 10
13 8 3 40
14 9
4 .
15 6 " s M
10. Find Quartile Deviation (Q. D.) for the data m:&n : e 6 42
below : - 8 7 42
Month ~+ Income (in ) 1o g 8 43
1 fa g viiag | , el M
2 40 - N
3 40 M s
. 4 41 K .
5 . 41 frd: . or
g 2 el ()
1 . : 42 “ _ k Find Standard Deviation (S. D.) for the data given
; e ; X . g below using short-cut method :
o E L gl A 15, 18, 13, 20, 17, 10, 16,19, 22,20
10 | w4t olest @ fo e R 91 T Y
] M o iy g AR _
12 45 | . 15,18, 13, 20, 17, 10, 16, 19, 22,20

_ 3,800
2000172(014) b
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2000174(015)

Dip. in Engg. (First Semester)
EXAMINATION, Nov.-Dec., 2022
~ (Scheme : New)

(Branch : Civil, CSE, Elect., EEE, Et & T,
IT, Inst., MlmmfF and Mme Surveying,
AT and ML)

APPLIED PHYSICS

[ Maxzmum Marks 70
[J\/Izmmum Pass Marks : 25

Note : Attempt all questions. In case of any doubt or
dispute the Enghsh version question should be

treated as final.

Wﬁmﬁwﬂﬁqlﬁiﬁﬂﬁumwzﬁﬂqsm

Time : Three Hours !

faare @ Rerfo anjrrﬁ uINT & Y Bl Sfaq F
W |

UNIT—I'

(grg—1)

1. (a) What are fundamental quantities and derived
quantity. Give example. 4

Woﬂﬁmﬂﬁmaﬂvmﬂwﬁmmw
g ? 3arev G |

P.T.O.




©)

[2]

]

§)

'(b) Explain the applications of Dimensiona] ang.
. : alysis,

ffiy favelvor & STAT B IR

Write the dimensional ,mozdc_m,om Eo mo:o,s.
, ing

(any five)
(a) Momentum

" (b) Work

(©) QSS.Bmozu_ oosmﬁa s

(d) Density
(e) Surface tension’

® b:w.c_mn

. (g) Acceleration

P & o T e (714 ﬁv

(ar) e .
@) @r
(6) ToHY (RIS

(@) g5 T
@ T

@) @

Or

Aﬁﬂud | TR

T is time period of
of simple pendulum
'o'. Establish: a relations
dimensional equation.

a simple pendulum, efl
yp and acceleration d

hip with the . help of - 1

3

5

4y

ective length
ue to gravity

he

s

7" 'What is Young's modulus of elasticity ? Derive its

g R m\_@wﬂa@@f

4 [3] 2000174(015)
WSl ANTD BT A B T, Al B GAG T
| 4R Yoy @ g B, @ fm whexo @
SRl 9 % wdy w@nfid i

UNIT—II

@m-m)
Explain the Gravitational law of Newton.
Aﬁ & oY PR B WSy

Write distinction between g and G.

Or
(o)

Explain centripetal and centrifugal force with example.
| 6

P Ak G T B SR @

Y|

6

‘formula.

..ﬁ@ﬁa%ﬁw.vﬁﬁﬂwa%_

P.T.0.



[4] ~ 2000174(015)
Vb

UNIT—III

£ - (gPrE—I)

8. (a) Provethat:

(b)

9. (a)

m?ﬁbﬁvmv
2

n= A
sin —

2

for a prism, where A is angle of vamav m _mm>

refractive index of v:mB and m is minimum
deviation.

sl firon @ forg Rig AN :
. .mm=ﬁ>n“.,kmp
R=—"2a

sin —
2

g%%aﬂﬁ.%w: @ﬂﬁ,ﬁiﬂaw

q & A fawer 8
Explain Dispersion by Prism.
e g gof faeigr Pl ARy |
_ bt b i
Draw a neat ray &mmaa of simple microscope.
Write working

(i) Least distance of &,ma_.ﬁ vision
(i) Infinity

process and and give the
- formula for its Ewms_@_nm power when i _Bmma is
formed at : 8

(b)

example.
fifis & apife @ FOT @) SaT S
NAEIE _ .

. Establish an oxﬁa,wmwon. for the capacitance of parallel

plate capacitor.

ﬂqﬂ%ﬂm%ﬂ%ﬂ%ﬂ%%.

‘Establish an expression for the capacitance of spherical

e

[5] © 2000174(015)

W erredl &1 W® W@t eRy, SRR

fafiy ok ama e @ R w3 i

BTy

() 9 yfefds @ e o =Fm @ w
T B

(i) 9 gfafda 3T | a1 B

Write the %momvag of the main properties of

electromagnetic wave and use of electromagnetic
wave. 8

fgrgrer &1 % @ T B 99 Td 5

UNIT-IV

G@—Iv)

. mﬁu_&s ‘the Coulomb's law of electrostatics with

6

m

Or
(srera)

8

plate capacitor.

g%%a%aﬁﬁﬁa%_

P.T.O.



13.

17.

14. What is photoelectrlc effect ? Deﬁne the threshold
frequency.
yoRI-fdgd T ERJT %‘ 2 ‘q‘@t»ﬁ aan%r c—n‘r trﬁ‘mﬁﬁ
A it
15. What do. you mean by populatlon 1nver51on pumpmg
~and actlve system b SO S
VT TohY, qﬁveﬂ?ﬂmmﬁwm
gy %‘ P "
5 Or
Gﬂaao _
16. EXplam the constructlon and workmg of ruby laser
with diagram. - i 8
%ﬁhiﬁtﬂ'ﬁ%'ﬁﬁﬁﬁffﬁﬂ'ﬁﬁuﬁﬁﬁraﬁ'?ﬁﬁsriﬂﬁgﬁg§|
Find the momentum of Photon havmg Wavelength |
6000 A. Given : - ¢ =3x108m/ sec .- and
h= 66><10 -4 joule/sec. ' g
‘-BOOOAWWWEEWH?IWW|

fear % c-*3><108m/sec T 4= 6.6 x 1034
-Joule/sec. | ' s

.200017(015) - g

I '[ 6] | 2000174(01 5)

Explain any five properties of magnetic lines of foreesé

T T ket 3 fed o i @ @

PITY |

UNIT—V o

(FPE—V)

2590
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2000171(046)

Dip. in Engg. (First Semestér) |
EXAMINATION, Nov.-Dec., 2022

(Scheme : NITTTR) -

(Branch All Branches)
COMMUNICATION SKILLS—I ‘

Time : Three Hours| ' 4] Maxtmum Maiks 70
oY [Mmmum ‘Pass Marks : 25

Note : Answer all questlons unless mentloned otherwise.
| Section—A . .
1. (a) Apply the verbs within brackets in their
" appropriate form : - : 5
(i) John (go) to the office on foot every day.
(ii) - Rubber (not grow) in the cold climate.
(iii) Usually volcanoes (not erupt) without giving
plenty of warning.

(iv) A person who (sell) ladies hats is known as a
milliner.

(v) Oxygen '(form) about the one fifth of the air.
It helps things to burn.

P.T.O.
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[2] 2000171(046)
(b) Insert ‘some’ or ‘any’, ‘much’ or ‘many’ where it
is necessary : . _ 5
() Put........more mangoes in the basket.
(ii) Zoﬂ........voou_n have telephones in their
houses. |
(iif) uoa;.aaa coeeeseine. TNOISE.
“(iv) Isthere ........... ..vo__oo_:ws here 7
i U moi ............ So_._n can be ms_wrom today ?
Fill in the blanks with Eovom_aoum : FAiS
(i) ~India“became a free ooE:Q GE
~"August 1947. ; :

© (i) The vm:_om settled the issue....... anmo?am :

- (iv) Take the eoo_nm... ... the ocwcoma and give .

(@

$ £

(iii)- H.Ho says he will meetus ...... .10 o o_oow

w1 have

~themtome. = -0 e
go: ﬂm_::m rono mon ‘the

~ doctor ........... Boﬂ::m

,Woinﬁ the mo:oi_sm mnao:onm oroom_am :.n

correct from of verb from the cnmowoa : S TS

@

’

av Rice and 93 em\w@ the stable 38 of

1t (is/are) Eo oo__omom that must 8_8 up the

burden.

' r..

.-Bengalis.” - "¢

A:_v All of the oanE cm\ﬁov of inferior eS__Q

*

(2)

§ON

‘communication,

(3] 2000171(046)

(iv) Neither the truck nor the tractors (was/were)
repaired.
(v) The cattle (was/were) grazing the lawn.

Section—B

.

Attempt any one of the following questions :

Explain 7 C’s of Communication. Give examples

to support. )
Or

. Define communication. Explain the process of

indicating clearly the role of

nm.or. constituent element, with the help of flow

.o:wn.

Attempt m:% one of the following questions: 7

/Sz: are various techniques to improve listening

_ability ? Briefly discuss.

Or

‘What is the difference between hearing and

4. listening ? Explain.

Section—C
>zo=.§ any one of Eo following ncnmsopm
Give the summary 90 Eo story “A LETTER TO
GOD”. 7
P.T.0.



[4] 2000171(046)

Or
Why does Lencho call the post office people a

“Bunch of Crooks” ?
Why this is not an award for an act of charity ?
Give your impression of it in a paragraph of about

2 hundred words. |
(b) Attempt any one of the wo:oi:m questions: 8
Give the summary of the story "The Selfish
Giant". ey
Or ;
, What motivated the hero of the story to become
_an astrologer in “An Astrologer's Day” ?
Section—D A

4. (a) -Answer any five question in one or two sentence
each: 10-
(i) ~ Why do scientists tend to use special words
even words of common use could do ?
(i) - In which area has India done Eo:aozsm
work ?
"o (iii) What are the two basic components of the
environment ? Explain briefly.
(iv) Why do ‘entrepreneurs” avoid high risk
situations ? _

———

[5] 2000171(046)

(V) How does the scientist get these special
words ?

_ (vi) Who are effective _Smﬁm ?
(vii) What do entrepreneurs enjoy ? .
(b)  Match the following list A with List B : 5
1 The act of coming Enormous

between especially in

order to influence a

situation : ‘ ;
2. Process of burning Sustain
3. mggn to keep zw. Combustion
4. Immense i Intervention
5. Terrible accident Disaster

- (c) . Fill in the Em:_,a with appropriate forms of the
" following words : : 5

Survival, pollute, erosion, transformation,

expert, location.

(i) ~Land around a river is ............ by its water.

(ii) Zmzmq cannot be changed. A carpenter at the
best may ... wood into a piece of
furniture. _

P.T.O.

A



| 2000171(046)' -

(6] 2000171 (046)

(iii) For a business to flourish, it must be ......... at

a good place.

(iv) Industrial wastes from the Barauni réﬁnery

dischargéd into the Ganga caused ............. ‘to

its water

‘ (v) In these days of -hectic competltlon only

enterprlsmg busmessmen can ........

3850
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- 2000176(022)

Dip. in Engg. (First Semester)
EXAMINATION, Nov.-Dec., 2022

(Scheme NITTTR)

(Branch : Arch., ClVll CSE Elect EEE,
Et & T, IT Inst IDD Mmmg and Mine
- Surveylng)

COMPUTER F UNDAMENTALS AND
APPLICATIONS 7
-Time : Three Héurs] : [Maxzmum Marks : 70
A _ [Mmzmum Pass Marks : 25
Note : Attempt any two questlons from each Unit. All
questions carry equal marks. In case of any doubt or
dispute, the English version question should be
treated as final.
ydd PR W B & U BT W T
3% we £ 5l N yeR & W W faag A
- Reafa ¥ oI 9191 & U ® i AT A9 |

P.T.O.



2000176(022)

'
Yy

[2]
UNIT—I
(FeE—1)

1. Draw the block diagram of computer and explain CU,
MU and ALU. Also differentiate between input and

output devices. 7
FREY P W@ea §18¢ @ CU, MU, ALU &I

iR § F9=SY| Input T Output devices @ §9 &I

IR € DT

State the various Qwo.a of software. Sﬁ.% of .,
software is operating system ? Discuss the mBnnoum of

OS in detail. 7

fif~ uoR .n.w WiTedax ﬁmﬂ.oﬁaﬁm %%B

.Enﬁdﬁﬁﬁmﬂwﬂ%%m@ﬂﬂﬂﬁw

mﬁﬁ@mﬁﬂw_ﬂ

. Defin
czHooum T alags ‘ 7

qm.ﬁwm FIVY . Bit, Byte, Nibble, éoa, >mnu ;

EBCDIC, UNICODE
UNIT—I*

mmmla

Define and describe any .\?m mSERm om gm-ﬁ\o& ga

: Bit, Byte, Zz@Eﬂ i\.cwnu ASCII, mwOUHO i

G the extension to save a word file in computer ? 7 .

"MS-Word @ fodt g b &1 au %%_2_
Word file ®I' @ﬂuwmd & Save: mﬁ& .wm @.ﬂ extension

ﬁnﬂﬂan

ot

el

- 7 e o S ottt it

2.

(©

[3] 2000176(022)

Write the shortcuts for the following functions : 7
(a) Copy
(b) Cut
(c) Print
(d) Save
(e) Paste
() Undo
(g) Find
ffeiRad functions 3 shortcuts Fa1ET -
(@ Copy
(b) Cut
Print
Save -
(e) Paste
() Undo
(g) Find
State &@.mamsoo between the following :
(@) Spell check and Grammar check
(b) Header and Footer -
RyefaRed # AR WE IO :
(a) Spell check 4 Grammar check

. (b) Header dFooter
UNIT—II

(g@R—I1I)

f using MS-Excel oﬁ%

o dfwg o S
,@ﬁﬂmﬂ%w_

P.T.O..

/ s O
State the ma;:an
conventional data analysis tools.

MS-Excel @I fdyare - @1
TRARRAIA Data analysis tools



2. How is a formula function defined in Zm Excel ? mz:o

o1

R

[4] 2000176(022)

any five inbuilt formulas in MS- Excel.

MS-Excel § formula BRI o IRINT B @.ﬂ
ST & ? MS-Excel ) gl U EcE: mo:.s:_mm G

oI Y | R
.Explain the mo:oém:m” . 7
(a) Cell _

(b) Hyperlink

(c) Pi-chart

(d) Bar graph

(e) Autosum

() Lookup 5 2T Nen .

(g) Operator precedence

FrifiRe a1 we

(@ Cell

(b) Hyperlink

(c) Pichat .

(d) Bargraph :

()  Autosum SR

() Lookup .

(2 Ovo_.mﬂon precedence : \
4 UNIT—IV

(FFR—1v)

.

Explain the following : S e

(@ Clipaat -
(b) Slide

(8] 2000176(022)

(¢) Custom animation
(d) Slide master

(¢) Design template
(f) Slide show

(g) Slide sorter
frfefaa & KL EEL
{a) Clip-art

(b) Slide

(c) - -Custom animation
(d) Slide master

(e) Design template
(H) Slide show

(g) Slide sorter

Write steps to create a PowerPoint Presentation of your

institute. The presentation must contain text, pictures,
custom animation and embedded video in it. 7

CIETR ﬁ./ﬂg w@ PowerPoint §9M @1 WhaT @

HHAISU|  Presentation H text, picture, customn
.animation ﬁ video embed o B R @ Eﬁ:& ﬂ

U I |

Fill in the blanks : _ 7

R <l 1 gt @I ;

(8) e is @ formatting option that turns a
m:.m_mz text into a slanting text.

P S — Formatting option & TN ¥ A
aﬁﬁﬁa AR &d«mﬁ_ text § URafdd &
HHd & |

P.T.O.



(b)

@

®

@

Yavsesnn o S 18] 40 2000176(022)

Times new Roman and Calibri are types of ...
Times'New Roman T8 Calibri i @

. TR wm_
©)

Print ovmo:.%ﬁomq.m under ..o menu.
............... Bozcmw HId print option 5.5 ST 8l

mm<o Asis =moa to mm<n an already existing file.
(True/F m_mav

Uh am@.@ mm<nw_nﬁ edit B QIR mmSw%
.mw@ammw<o>mﬂ§§§w_ .

- (aEr/ Terd)

Motion and sound is mmao.m to the slides 3,

A video can Wo oBvamaom toa m__mn in MS Euﬂ
Aﬁdo\m m_mnv

MS PPT # Vedio &l m_ﬂu T el B |
LR a%\ TTerd)
Oo:an:o: of slides i _m om:om Lo Rl
Slides @ B B ......... B8 Wl §]
UNIT—V

(@R—V)

4

. Define various types of Network _ms detail. State ,n_ro
difference between internet and intranet, 7

._wﬁgwﬁaﬁmﬂﬁ%%_

.?833 q Intranet § 3N T %ﬂ ;i

A

2000176(022)

(71 2000176(022)

2. State the basic requirement to set up an internet
connection. Briefly describe internet services. 7

Internet .oonnoomon e A w.m m@.ﬁ_ﬂg_
AMILAFENG 71 ¥ 7 TAFY| Internet FNT Y B T
arelt Haratt #r av o

3. State the use of firewalls. Explain the types of viruses.’
. 7

. Firewall @ S99 & H9AZY| Virus @ fafi=
“YERI BT G DIFAT |

N

2,720
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200’0175(020) '

Dip. in Engg. (First Semester)
EXAMINATION Nov.-Dec. 2022

(Scheme : NITTTR)

(Branch C1v11 Elect. EEE Mmmg &

. Mine Survey & Lat. » ITT)
ENVIRONMENTAL ENGINEERING AND
SUSTAINABLE DEVELOPMENT ‘

Time : Three qujs ]’ i {Maxtmum Marks 70
i [Mmtmum Pass Marks : 25

Note : All questlons are compulsory, unless mentioned
otherwise. In case,of any doubt or dispute, English
- version question should be treated as final. =

W e Ao & o T e Ak 1
- form &1 Rl f R @ g W R @ Rl
i SISl 4T & we @ siftm W SR |

1. What is water pollution ? What are the adverse effect
of water pollution on environment ? 7

v .mww%?whwwwmﬂ?m
I 4§ ?

P.T.O.




[2] 2000175(020)

5 [3]
2 What is g 2000175(020)
ESéMI air pollution ? Write its sources and control 5. What is Encrgy ? Explai
asures. *Xplain conventional and -
[ conventional ¢ s
: al energy sources and its advanta and
1Y AT R & ? $9 Wia qur Fraror R | disadvantages. o
Or St R e ¢ 7 oRaRe et W@ an

%-sﬁ?i%ﬁ%mﬁﬁa%ﬁ
it forfau |

(srerar)

Explain the causes and impact of air pollution on

human health. , 6. Explain the concept of recycling and write the types
’ ‘and method of recycling. _

ﬁzﬂs%ﬂﬂwﬁﬁﬂﬂﬁuﬂm@gﬂs% | : gy ’
N _ | U B R @ WY 0 366 R U9

SR ] W , faferal ot forRag |

3. Define soil pollution. Explain source, cause and effect , Or

of soil pollution. 7 : (arora)

TS AT T e 7 FARAAA .nw ..%_d FRY T sl What is biomass energy ? mxv_m_: the types of biomass

PTG mﬂw_ﬁ__ Sy energy source.

TV ol @ & ? TN Sl @ Eid @ YO

4. Define thermal vo::no.: and write the effect of

thermal pollution. i 7 . P e AR
ani LEAL 3l uRi mw.mﬁ IR m./n_.aw nﬁ_ﬂ @l s - 7. "What is EIA report or environment impact statement in
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8. What is Acid Rain ? What are its effects on
environment ? 7
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9. What is Global Warmmg ? What are the measures to
control global warmirig ? v 7
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»What is ozone layer ? What are the effects of ozone
layer depletlon on envxronment 9
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